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QUESTION 1

A solution developer has created the flow shown in the exhibit below. The purpose of the flow is to receive notification
messages, transform the message payload and send the messages via MQ to the Portal and DatawWareHouse (DWH)
systems. The developer has also implemented logic to handle various scenarios in the flow in order to trigger alerts on
either theNOTIFICATION.CATCHor theNOTIFICATION.FAILqueue which are both monitored by operation support.

QL ] NOTIFICATION. FAIL

@l

ProcessCalch NOTIFICATION  CATCM

The following parameters and settings apply:

All messages processed by the flow are not-persistent messages. The transaction mode in
theNOTIFICATION.REQUESTMQInput node has been set toYes. The transaction mode in theDWH.QRMQOutput node
has been sent toNo. During an MQ maintenance outage one of the destination queues,DWH.QR, was deleted by
mistake. The next messagethat was processed caused an exception in theDWH.QRMQOutput node.

In this scenario, how many messages are sent out by the flow and to which queues?

A. One message sent to NOTIFICATION.CATCH.

B. One message sent to NOTIFICATION.FAIL.

C. One message sent to PORTAL.QR. One message sent to NOTIFICATION.CATCH.

D. One message sent to PORTAL.QR. One message sent to NOTIFICATION.FAIL.

Correct Answer: B

QUESTION 2

A solution developer is creating a DFDL message model for a comma-separated text file that contains customer
addresses. The message model structure is shown below.
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Name Type Min Occurs [Max Occurs
= Customers

— EEQUENCE 1 1
* Customer 1 unoounded

— BEQUENCE 1 1

= Mame sfring P 1

= Street string 1 2

= City string 1 1

= State string ] ]

= Country string 1 1

= PostalCode string 1 1

During testing, the developer finds that some of the records in the data file might be blank. What modification can the
developer make to the DFDL model to allow for the blank records in the data?

A. SetMin OccurstoOon theCustomer/sequenceelement.

B. SetContent > Length Kindtolmpliciton theCustomerelement.

C. Add%WSP*to theTerminatorsproperty on theCustomerelement.

D. Add%LFto theTerminatorsproperty on theCustomer/sequenceelement.

Correct Answer: D

QUESTION 3

The embedded global cache in an integration node can be extended by connecting to:
A. Integration Bus Advanced.

B. Integration Bus Hypervisor Edition.

C. WebSphere eXtreme Scale.

D. WebSphere Extended Deployment Compute Grid.

Correct Answer: C

QUESTION 4

A solution developer is using accounting and statistics data to find a performance issue withina message flow.
Which type of statistics should the developer use?

A. Node statistics

B. Thread statistics

C. Terminal statistics

D. Message flow statistics
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Correct Answer: D

QUESTION 5

A company needs to implement a generic gateway application which accepts COBOLinput messages using WebSphere
MQ transport. The first 15 bytes of each input message represents a common header for all messages. The 15 bytes
header is used to determine the message type, length and routing information.

Which domain parser should the solution developer set in the input node to accomplish this?

A. MIME

B. BLOB

C. JSON

D. DataObject

Correct Answer: B

QUESTION 6

A message flow contains multiple nodes that reference the same database. In the production environment, all nodes
should refer to a database called CLAIMS. In the test environment, all nodes should refer to a database
calledCLAIMSTEST.

What can the solution developer do to ensure that all nodes refer to the same database when the message flow is
deployed in the target environment?

A. Create a configurable service for the database.

B. Promote the Data Source property on each node to a single message flow property.

C. Set the database name in theLocalEnvironment.Destination.Databasetree location.

D. Declare a shared variable and set the Data Source property on each node to the shared variable.

Correct Answer: B

QUESTION 7

A solution developer wants to monitor how much Java processing memory is currently allocated to an integration server.
A flow is currently deployed.

Assuming resource statistics collection has been started, which step will allow the developer to obtain these statistics?

A. Expand Integration Nodes folder in IBM Integration Explorer Choose Window menu: Show view: Resource statistics
Click JVM tab, and view CommittedMemorylnMB measurement

B. Expand Integration Nodes folder in IBM Integration Explorer Choose Window menu: Show view: Resource statistics
Click JVM tab, and view UsedMemoryinMB measurement
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C. Expand Integration Nodes in IBM Integration Toolkit Choose Window menu: Show view: Resource statistics Click
JVM tab, and view UsedMemoryinMB measurement

D. Expand Integration Nodes in IBM Integration Toolkit Choose Window menu: Show view: Resource statistics Click
JVM tab, and view CumulativeGCTimelnSeconds measurement

Correct Answer: B

QUESTION 8

A solution developer installed the IBM Integration Bus runtime and the Integration Toolkit using the
"Developer Edition" on a Windows 64 bit environment.

Which integration server functionality is available for the developer?

A. Allfeatures are available with unlimited integration servers.

B. All features are available but there is a limitation of creating only one integration server.

C. A limited set of nodes is available with unlimited integration servers.

D. A limited set of nodes is available and there is a limitation of creating only one integration server.

Correct Answer: C

QUESTION 9
A solution developer needs to configure the HTTP listener of an Integration Server on a Linux Server.

Which operating system privilege(s) does the developer need to modify Integration node properties and properties of
integration node resources?

A. mgm

B. mgm and mqgbrks
C. mgbrks

D. root user

Correct Answer: D

QUESTION 10
A solution developer wants to connect to an integration node which is runningon an AIX machine from the
IBM IntegrationExplorer running o a Windows system.

The Windows system does not have the Integration Bus runtime component installed.
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The solution developer performs these steps:

-Open the IBM Integration Explorer
Right-click the Integration Nodes folder, and click Connect to a Remote Broker.

Supply the Integration node queue manager name, host, port andSVRCONNchannel name
asSYSTEM.BKR.CONFIG.

-Click Finish to connect to the remote broker.

The operation fails and the remote integration node is not added.

What should the developer expect as a possible reason for this failure?

A. ACLNTCONNchannel with the nameSYSTEM.BKR.CONFIGmust be created on the Windows system.

B. The IBM Integration Explorercan connect to integration nodes on Windows or Linux basedsystem only.

C. The Integration Bus runtime component must be installed to be able to connect to a remote integration node.
D. The logged in user in the Windows system could not have enough privileges to connect to the remote
broker.

Correct Answer: B
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